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KE0 Geometric Sequences

Ina geometrtc sequence, each term is multlphed by the same number o get to the next
term. This number is called the common ratio.

3 12 48

The common ratlo is 4. |

e T

A o X4~ X4

Determine if the sequence Determme if the sequence .

2,6,18,54, ...is a geometric ' 5,10, 15, 20, ... is a geometric

sequence. . sequence. = -

Divide each term by the term before it. Divide each term by the term before it.

54 _ o 18 _ 4 6 ~3 : 20 4 as=3 HH0_4

18 6 2 1503 |-

This is a geometric sequence 3is the This is not a geometric sequence there is no

common ratio. - common ratio. _
Flnd the next three terms in the geometric. sequence1 4, 16 64, ....

Step 1: Find the commen ratio.

64 6_, . 4_
6=4 g4 74

| Step 2: Continue to multiply by the common ratio.

64 X 4 = 256 256 X 4 = 1024 - 1024 ><‘4':4096
U U

| The next three terms are 256, 1024, and 4096. .

Determme if each sequence is a geometric sequence Explaln

1.2,4,6,8, ... %"2 ‘g’ 1S QMDo , F\C}@arwm» et

, I . S
2. —4,8, —16, 32, . "M ¥ --2Q gy m? > l&‘.,»_..}i’g Qﬁﬁ'—wf?f ; nxf’ﬁ LA 8]

3.82,16,8,4,... Ut“:w _ Ava ﬂ‘ﬁbnm”t hV T3>

Find the common ratto in each geometrtc sequence below Then find
the next three terms. _ |2 Z
§ & -

4.1,5,%, 125, .. ¢2'S 5. 6,12, —24,43, .. | ==l ¥

25,3125, 15,625 -, \92, -384

"R
'6.4,6,9,135, ... r'..-s-s .S 71140 ez 2

-I>-|—L

20,35, 30 7% 4SS5 U %.&',‘l-t--.-
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118 Geometric Sequences (continued) o ,
There are two‘ways to find a given term of a geometric sequence.’ '
. Find the 8th term in the geometric s_equencé 5,10, 20, 40, .... S
Method 1: Extend the sequence to the - Method 2: Use a formula to find the
8th term. | o - 8th term. _
Step 1: Flnd The common ratiol : - LOOkat MethOd 1 The f[i’St tel’m, 5, was
T t multiplied by 2 seven times to get to the
40 _ 20 _ 5 10 _ o Y
20 10 5 . elghth term.
The common ratio is 2. ' 8th term = 5(2)(2) (222 @2)(2) = 5(2)7
' . Written as a formula, this would be: '
Step 2: Continue to multiply each term a, - a, r" 1,
| by 2. . : : - , L .
5, 10, 20, 40, 80, 160, 320, 640, ... . where nis the number of terms and ris
¢ ’ ' ~ the common ratio.
/ To find the 8th term of the sequence, use
, - | n=8andr=2.
.| Stop at the | ' i
.| 8th term. | ap=ayr
S . gy = 5237
The 8thterm is 640. . ag = 5(2)"
ag = 640

| The 8th term is 640.

' . " . T o N\C(V=]
Find tl‘!e' indicated term. ,O!\ ‘q\ (f \ B ' _
8. a, =7, r=—2;10th term | _ 9. a, = —4, r= 3; 8th term _
a0 =AEZ® a-FEE
Q;n ok ‘3%"( | Qe '-"-—8—““?

10. The first term of a geometric sequence is 2, and " 2(3\’.‘. a_! - Hsg' :

the common ratio is 3. What is the 7th term? 'Q-,

11. The first t f fric | is —3, and , kY ;
e first ferm of a geometric sequence is an '-3(-2)Q" R Qq - ..-7(0? _

the common ratio is —2. What is the 9th term? (Re

12. Find the 12th term in the geometric sequence

5, ~15,45, —135, ... - 7 QesS (-3)'2-' Qe "83S 73S
13. Find the 8th term in the geometric sequence ‘ i \
- 243, 81,'27, g,i ‘ - 093243(% ‘f O. ==
=232 - | -
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